Group Members:

Block:

cenfters of Triangles Review

Directions; Work together to complete each problem. Do not divide up the work!
Each person should be participating. At the end of the block, one person’s paper

will be chosen at random to be graded for

the group.

1. If G is the circumcenter of A4BC, find each missing measure.

by x*+q2=22% eYXZ418%=22% a)4D= \5
X% 48l = 43y ¥2+324 =48 by pe=_20
x*=403 x*=z o  oEs=_18
x.= 20 x: 12 d)AG: 12
e EG=_12.b
2. If Z is the circumcenter of AQRS, find each missing measure, 5
= (]
b) 4% +p2 -y 2 &)Y x*425% =42 :’i‘: "y
L8 = x2 X% 4 425 = o8 c))XS:"{_O
= 21050 -
Bl =X X ) p d) zs = Y|
X< 32' e) W7 = Sz-g

3. If C Is the incenter of AMNP, find each missing measure.

&) 4F 4112 = x?
137 =x%
1.7 =X

4. If Y Is the incenter of ASTU, find each missing measure.
b) XF+2HZ =2,
XZ +510 = b
X* = 100
X =to

a)ymlCML=_20°
b) m/MNP = _W0°
Y muNPC=_H0°
d)Je=_"4
eymc=_11."1

&) X202 g0 1= 21
XZlo0 2g4| D) 7= 10
xﬁ-:, 14 | c) S = L.z'

x=21.2 D=1
eysv=_271-2
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5. If G is the centroid of AMCE, AG =26, BC = 6. If O is the centroid of AJKL, IN = 72, JP = 93,

44, and DG = 12, find each missing measure. and MK = 78, find each missing measure.
4 B a)gr=_13 J ayo=_H§_
byar=_39_ y b)ov=_24
X\ Yr arc=_2% oop=_3)
)Gs=24 . @ip=l?
b e)ypg=_3V . e)ok=52

For questions 7 and 8, P is the circumcenter of A4BC.
7.1f BE = 8¢ - 11, and EC = 13x - 31, find BC.

13%-31 = gX -1l gE = 30)-il = 2
65X =20
X 74

4 F c

8. 1f BP = 9x - 29, AP = Sx -1, and PF = 15, find FC.,

Q-2 =5%-| X2+ I6% 5 342
Yx-29 =-I| X%+ 225 = |I5%
4= 23 e

A F % C x ‘."a"'l
5 =34
For questions 9 and 10, N is the incenter of ARST.
9. f MN = 9x - 1, NL = 16x - 15, find KN.

Iyi5 = Al MNZ QD)1 =17
2 W15 2| @'
R L =14 '
M X=L

T

10. If mZRST = 3x + 17, m£STR = 8x— 32, and mZIRS = 2x, find m£RSN.

3% 3 $X-32 t 2X =19 mLRsT = B0 =62 )
s (mcesn=2r]
. 12X <145
7 X=1%
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